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1 9 HZT A& 1,000 = 7.24 %
2 5 AHLBE % 800 = 13.79 %
3 7 StEAHL F 800 = 13.79 %
4 15 R =< 800 = 13.79 %
5 1 ERH =&k 600 = 10.34 %
6 14 B IE=x 600 = 10.34 %
7 21 ABRHE UT&EL 600 = 10.34 %
8 2 R LIF 400 = 6.90 %
9 20 ¥2AH =1L 200 = 3.45 %
10 3 ESh =i 0 = 0.00 %
11 4 il F— 0 = 0.00 %
12 6 Hf 0OAC 0 2 0.00 %
13 8 HE UAF 0 = 0.00 %
14 |10 XxH & 0 = 0.00 %
15 11 TR pELEL 0 = 0.00 %
16 12 WA kL= 0 = 0.00 %
17 13 DDOK HRHE 0 = 0.00 %
18 16 =l HEF 0 = 0.00 %
19 17 =6 EFEF 0 = 0.00 %
20 18 HheE PpEL 0 = 0.00 %
21 19 WA IEZE 0 = 0.00 %
22 | 22 <K B&h 0 = 0.00 %
23 | 23 it 54 nﬁlﬂﬂ 0 = 0.00 %
24 24 [ic]il} 0 = 0.00 %
25 | 25 ﬁﬁ Tﬁ% 0 = 0.00 %
26 | 26 =% #m 0 = 0.00 %
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